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TVC (Mean) vs TP delay (c,b,ch)=(4,1,15)



TP delay [ns]
0 20 40 60 80 100

3905

3906

3907

TVC (Mean) vs TP delay (c,b,ch)=(4,2,0)
 / ndf 2χ   25.6 / 25

p0        0.0±  3907 

p1        0.0002185± 0.0003192 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,1)
 / ndf 2χ  48.21 / 25

p0        0.0±  3907 

p1        0.0001824± 0.0004598 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,2)
 / ndf 2χ  29.14 / 25

p0        0.0±  3904 

p1        0.0001884± 0.0004806 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,3)
 / ndf 2χ  45.45 / 25

p0        0.0±  3907 

p1        0.0001823± 0.0001444 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4)
 / ndf 2χ  15.94 / 25

p0        0.0±  3914 

p1        0.0001872± 0.0006267 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4)

TP delay [ns]
0 20 40 60 80 100

3905

3906

3907

3908

3909

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5)
 / ndf 2χ  43.28 / 25

p0        0.0±  3910 

p1        0.0001946± 0.0007436 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6) / ndf 
2χ  39.68 / 25

p0        0.0±  3909 

p1        0.000162± 0.000467 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6)

TP delay [ns]
0 20 40 60 80 100

3907

3908

3909

3910

3911

3912

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)
 / ndf 2χ  29.04 / 25

p0        0.0±  3912 

p1        0.0001874± 0.0007932 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)

TP delay [ns]
0 20 40 60 80 100

3901

3902

3903

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8) / ndf 
2χ  10.89 / 25

p0        0.0±  3903 

p1        0.000269± 0.000346 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)
 / ndf 2χ  31.09 / 25

p0        0.0±  3911 

p1        0.0001713± 0.0004434 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10)
 / ndf 2χ  37.48 / 25

p0        0.0±  3910 

p1        0.0001745± 0.0004238 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10)

TP delay [ns]
0 20 40 60 80 100

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11)
 / ndf 2χ  19.82 / 25

p0        0.0±  3915 

p1        0.0001762± 0.0007515 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)
 / ndf 2χ  60.87 / 25

p0        0.0±  3894 

p1        0.0001840± 0.0008401 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)

TP delay [ns]
0 20 40 60 80 100

3890

3891

3892

3893

3894

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13)
 / ndf 2χ   33.9 / 25

p0        0.0±  3894 

p1        0.0001858± 0.0008923 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14)
 / ndf 2χ  60.79 / 25

p0        0.0±  3899 

p1        0.0001714± 0.0006972 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15) / ndf 
2χ  29.26 / 25

p0        0.0±  3897 

p1        0.000189± 0.000666 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0)
 / ndf 2χ  36.54 / 25

p0        0.0±  3920 

p1        0.0001911± 0.0001734 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1) / ndf 
2χ  38.45 / 25

p0        0.0±  3912 

p1        0.000184± 0.000254 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1)

TP delay [ns]
0 20 40 60 80 100

3914

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)
 / ndf 2χ  29.03 / 25

p0        0.0±  3914 

p1        0.0001810± 0.0003036 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)

TP delay [ns]
0 20 40 60 80 100

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)
 / ndf 2χ  57.67 / 25

p0        0.0±  3915 

p1        1.848e-04± 6.276e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4)
 / ndf 2χ  32.15 / 25

p0        0.0±  3909 

p1        1.926e-04± -4.873e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4)

TP delay [ns]
0 20 40 60 80 100

3900

3901

3902

3903

3904

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)
 / ndf 2χ  29.86 / 25

p0        0.0±  3904 

p1        0.0001928± -0.0002137 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6) / ndf 
2χ  28.02 / 25

p0        0.0±  3930 

p1        0.000188± -0.000227 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)
 / ndf 2χ  25.45 / 25

p0        0.0±  3919 

p1        0.0002000± -0.0001169 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)
 / ndf 2χ  22.43 / 25

p0        0.0±  3923 

p1        0.0001984± -0.0002487 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)
 / ndf 2χ  37.56 / 25

p0        0.0±  3916 

p1        0.0001804± -0.0002255 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)

TP delay [ns]
0 20 40 60 80 100

3906

3907

3908

3909

3910

3911

3912

3913

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)
 / ndf 2χ   27.7 / 25

p0        0.0±  3913 

p1        0.0002021± -0.0002691 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)
 / ndf 2χ  46.47 / 25

p0        0.0±  3925 

p1        0.0001844± -0.0001849 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)
 / ndf 2χ  48.26 / 25

p0        0.0±  3933 

p1        0.0001982± 0.0004757 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)

TP delay [ns]
0 20 40 60 80 100

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)
 / ndf 2χ  52.03 / 25

p0        0.0±  3927 

p1        0.0001736± 0.0002505 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)
 / ndf 2χ  34.81 / 25

p0        0.0±  3927 

p1        0.0001860± 0.0002661 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)

TP delay [ns]
0 20 40 60 80 100

3928

3929

3930

3931

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)
 / ndf 2χ  36.13 / 25

p0        0.0±  3931 

p1        0.0001888± 0.0001316 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)
 / ndf 2χ  33.24 / 25

p0        0.0±  3917 

p1        0.0001847± 0.0005961 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)

TP delay [ns]
0 20 40 60 80 100

3911

3912

3913

3914

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)
 / ndf 2χ  35.66 / 25

p0        0.0±  3915 

p1        0.0001866± 0.0007524 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)
 / ndf 2χ     36 / 25

p0        0.0±  3929 

p1        0.0001814± 0.0005535 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)
 / ndf 2χ  41.62 / 25

p0        0.0±  3924 

p1        0.0001920± 0.0004571 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)

TP delay [ns]
0 20 40 60 80 100

3925
TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)

 / ndf 2χ  37.66 / 25

p0        0.0±  3925 

p1        0.0001786± 0.0007805 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)
 / ndf 2χ  28.53 / 25

p0        0.0±  3930 

p1        1.852e-04± 8.443e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)
 / ndf 2χ  44.98 / 25

p0        0.0±  3926 

p1        0.0001891± 0.0007234 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)
 / ndf 2χ  40.78 / 25

p0        0.0±  3918 

p1        0.0002137± 0.0003281 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)

TP delay [ns]
0 20 40 60 80 100

3942

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)
 / ndf 2χ  29.69 / 25

p0        0.0±  3942 

p1        0.0001976± 0.0007281 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)

TP delay [ns]
0 20 40 60 80 100

3941

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9) / ndf 
2χ  48.51 / 25

p0        0.0±  3941 

p1        0.000201± 0.001003 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10)
 / ndf 2χ  48.87 / 25

p0        0.0±  3941 

p1        0.0002016± 0.0008465 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10)

TP delay [ns]
0 20 40 60 80 100

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11) / ndf 
2χ  17.12 / 25

p0        0.0±  3935 

p1        0.00019± 0.00107 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)
 / ndf 2χ  37.72 / 25

p0        0.0±  3929 

p1        0.0002261± 0.0001948 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)

TP delay [ns]
0 20 40 60 80 100

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)
 / ndf 2χ  26.72 / 25

p0        0.0±  3938 

p1        0.0001688± 0.0005179 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)

TP delay [ns]
0 20 40 60 80 100

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14) / ndf 
2χ  28.29 / 25

p0        0.0±  3935 

p1        0.000177± 0.000134 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15) / ndf 
2χ  36.01 / 25

p0        0.0±  3927 

p1        0.00017± 0.00031 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)
 / ndf 2χ  22.09 / 25

p0        0.0±  3915 

p1        0.0001979± 0.0009768 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)
 / ndf 2χ   48.6 / 25

p0        0.0±  3912 

p1        0.0001869± 0.0004967 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2) / ndf 
2χ  50.02 / 25

p0        0.0±  3918 

p1        0.000185± 0.001069 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3) / ndf 
2χ  20.78 / 25

p0        0.0±  3923 

p1        0.000183± 0.001042 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)
 / ndf 2χ  32.62 / 25

p0        0.0±  3911 

p1        1.951e-04± -4.317e-06 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)

TP delay [ns]
0 20 40 60 80 100

3900

3901

3902

3903

3904

3905

3906

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)
 / ndf 2χ  13.89 / 25

p0        0.0±  3906 

p1        0.0001930± -0.0001145 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)
 / ndf 2χ  35.22 / 25

p0        0.0±  3917 

p1        0.0001888± -0.0001634 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)
 / ndf 2χ  39.75 / 25

p0        0.0±  3908 

p1        1.820e-04± 8.988e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)
 / ndf 2χ  19.88 / 25

p0        0.0±  3937 

p1        0.0001886± -0.0001908 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)
 / ndf 2χ  43.37 / 25

p0        0.0±  3935 

p1        0.0001858± -0.0002288 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)

TP delay [ns]
0 20 40 60 80 100

3933

3934

3935

3936

3937

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)
 / ndf 2χ  32.85 / 25

p0        0.0±  3937 

p1        0.0001841± -0.0002299 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)
 / ndf 2χ   58.2 / 25

p0        0.0±  3932 

p1        0.0001857± 0.0006085 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12) / ndf 
2χ  36.08 / 25

p0        0.0±  3935 

p1        0.000199± 0.000662 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)

TP delay [ns]
0 20 40 60 80 100

3929

3930

3931

3932

3933

3934

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13) / ndf 
2χ  31.24 / 25

p0        0.0±  3934 

p1        0.000187± 0.000362 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13)

TP delay [ns]
0 20 40 60 80 100

3938

3939

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)
 / ndf 2χ  45.21 / 25

p0        0.0±  3939 

p1        0.0001747± 0.0003308 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)
 / ndf 2χ   37.4 / 25

p0        0.0±  3938 

p1        0.0001840± 0.0007259 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)
 / ndf 2χ  32.81 / 25

p0        0.0±  3920 

p1        0.0001940± 0.0002698 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)

TP delay [ns]
0 20 40 60 80 100

3922

3923

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)
 / ndf 2χ  32.35 / 25

p0        0.0±  3924 

p1        1.839e-04± 4.454e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2) / ndf 
2χ  28.34 / 25

p0        0.0±  3931 

p1        1.79e-04± -4.12e-06 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2)

TP delay [ns]
0 20 40 60 80 100

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)
 / ndf 2χ  35.12 / 25

p0        0.0±  3926 

p1        0.0001845± 0.0004463 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)

TP delay [ns]
0 20 40 60 80 100

3911

3912

3913

3914

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)
 / ndf 2χ  39.83 / 25

p0        0.0±  3915 

p1        0.0001816± 0.0008899 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)

TP delay [ns]
0 20 40 60 80 100

3913

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5) / ndf 
2χ  47.73 / 25

p0        0.0±  3913 

p1        0.000176± 0.001044 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)
 / ndf 2χ  57.07 / 25

p0        0.0±  3912 

p1        0.0001752± 0.0004621 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7) / ndf 
2χ  30.54 / 25

p0        0.0±  3912 

p1        0.000189± 0.001081 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8)
 / ndf 2χ  35.75 / 25

p0        0.0±  3925 

p1        0.0001902± 0.0007405 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)
 / ndf 2χ   40.5 / 25

p0        0.0±  3916 

p1        0.0001861± 0.0006421 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10) / ndf 
2χ  23.84 / 25

p0        0.0±  3915 

p1        0.000178± 0.001007 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11)
 / ndf 2χ  33.65 / 25

p0        0.0±  3922 

p1        0.0001788± 0.0009633 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12)
 / ndf 2χ  34.78 / 25

p0        0.0±  3928 

p1        0.0001944± -0.0002361 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13)
 / ndf 2χ  40.33 / 25

p0        0.0±  3928 

p1        0.0002090± 0.0002942 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)
 / ndf 2χ  29.65 / 25

p0        0.0±  3917 

p1        0.0001753± 0.0004616 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)

TP delay [ns]
0 20 40 60 80 100

3924

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)
 / ndf 2χ  35.49 / 25

p0        0.0±  3925 

p1        0.0001858± -0.0002456 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0) / ndf 
2χ  26.59 / 25

p0        0.0±  3942 

p1        0.000203± 0.001009 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)
 / ndf 2χ  43.48 / 25

p0        0.0±  3943 

p1        0.0001808± 0.0008175 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2)
 / ndf 2χ  24.09 / 25

p0        0.0±  3938 

p1        0.0001868± 0.0005037 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)
 / ndf 2χ  32.45 / 25

p0        0.0±  3941 

p1        0.0001924± 0.0006962 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4)
 / ndf 2χ  33.62 / 25

p0        0.0±  3928 

p1        0.0001925± 0.0002113 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4)

TP delay [ns]
0 20 40 60 80 100

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)
 / ndf 2χ  55.11 / 25

p0        0.0±  3927 

p1        0.0001975± -0.0001615 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6) / ndf 
2χ  36.25 / 25

p0        0.0±  3930 

p1        0.000189± 0.000265 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)
 / ndf 2χ  59.25 / 25

p0        0.0±  3941 

p1        0.0001952± 0.0003295 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8)
 / ndf 2χ  30.67 / 25

p0        0.0±  3934 

p1        0.0001876± -0.0001619 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)
 / ndf 2χ  36.67 / 25

p0        0.0±  3930 

p1        1.837e-04± -2.409e-06 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)
 / ndf 2χ  38.76 / 25

p0        0.0±  3925 

p1        0.0001768± -0.0001875 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)
 / ndf 2χ  33.95 / 25

p0        0.0±  3925 

p1        0.0001781± 0.0002421 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)
 / ndf 2χ  38.11 / 25

p0        0.0±  3952 

p1        0.0002026± 0.0002771 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)

TP delay [ns]
0 20 40 60 80 100

3952

3953

3954

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)
 / ndf 2χ  54.07 / 25

p0        0.0±  3954 

p1        0.0001945± 0.0001886 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)

TP delay [ns]
0 20 40 60 80 100

3952

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)
 / ndf 2χ  38.28 / 25

p0        0.0±  3952 

p1        0.0002104± 0.0001909 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)
 / ndf 2χ  39.61 / 25

p0        0.0±  3958 

p1        0.0001895± 0.0004024 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0)
 / ndf 2χ  24.61 / 25

p0        0.0±  3913 

p1        1.990e-04± 8.873e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0)

TP delay [ns]
0 20 40 60 80 100

3909

3910

3911

3912

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)
 / ndf 2χ  35.45 / 25

p0        0.0±  3912 

p1        0.0001841± 0.0004349 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)
 / ndf 2χ  40.78 / 25

p0        0.0±  3922 

p1        0.0001779± -0.0001537 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)
 / ndf 2χ  43.13 / 25

p0        0.0±  3916 

p1        0.0001802± 0.0003097 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4)
 / ndf 2χ  18.29 / 25

p0        0.0±  3915 

p1        0.0002002± 0.0004081 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)
 / ndf 2χ  36.35 / 25

p0        0.0±  3908 

p1        0.0001816± 0.0002026 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)

TP delay [ns]
0 20 40 60 80 100

3907

3908

3909

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)
 / ndf 2χ  38.68 / 25

p0        0.0±  3910 

p1        0.0001922± 0.0004366 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)

TP delay [ns]
0 20 40 60 80 100

3909

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)
 / ndf 2χ  27.36 / 25

p0        0.0±  3911 

p1        1.904e-04± 2.081e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8) / ndf 
2χ  33.12 / 25

p0        0.0±  3910 

p1        0.000186± 0.000575 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)
 / ndf 2χ  33.16 / 25

p0        0.0±  3908 

p1        0.0001728± 0.0004747 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)

TP delay [ns]
0 20 40 60 80 100

3909

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10)
 / ndf 2χ  58.34 / 25

p0        0.0±  3911 

p1        0.0001779± 0.0003135 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)
 / ndf 2χ  50.41 / 25

p0        0.0±  3914 

p1        0.0001774± 0.0004367 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)

TP delay [ns]
0 20 40 60 80 100

3890

3891

3892

3893

3894

3895

3896

3897

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)
 / ndf 2χ  38.64 / 25

p0        0.0±  3897 

p1        0.0001898± 0.0005589 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)
 / ndf 2χ  34.32 / 25

p0        0.0±  3900 

p1        0.0001788± 0.0002929 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)
 / ndf 2χ  31.23 / 25

p0        0.0±  3903 

p1        1.887e-04± -6.298e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)
 / ndf 2χ   58.5 / 25

p0        0.0±  3909 

p1        0.0001800± 0.0004652 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)



TP delay [ns]
0 20 40 60 80 100

3946

3947

3948

3949

3950

3951

3952

3953

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0)
 / ndf 2χ   44.9 / 25

p0        0.0±  3953 

p1        0.0001924± 0.0001413 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)
 / ndf 2χ  31.73 / 25

p0        0.0±  3945 

p1        0.0001993± 0.0003207 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)
 / ndf 2χ  41.94 / 25

p0        0.0±  3948 

p1        1.861e-04± 8.802e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)
 / ndf 2χ  23.21 / 25

p0        0.0±  3955 

p1        0.0001936± 0.0003131 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4) / ndf 
2χ  28.69 / 25

p0        0.0±  3928 

p1        0.000186± 0.000597 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4)

TP delay [ns]
0 20 40 60 80 100

3934

3935

3936

3937

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5)
 / ndf 2χ  33.84 / 25

p0        0.0±  3938 

p1        0.0001990± 0.0006376 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6) / ndf 
2χ  43.06 / 25

p0        0.0±  3942 

p1        0.000188± 0.000472 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6)

TP delay [ns]
0 20 40 60 80 100

3934

3935

3936

3937

3938

3939

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7)
 / ndf 2χ  24.96 / 25

p0        0.0±  3940 

p1        0.0001975± 0.0002881 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7)

TP delay [ns]
0 20 40 60 80 100

3927

3928

3929

3930

3931

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)
 / ndf 2χ  35.29 / 25

p0        0.0±  3932 

p1        0.0001854± 0.0005618 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)

TP delay [ns]
0 20 40 60 80 100

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,9,9)
 / ndf 2χ  44.11 / 25

p0        0.0±  3935 

p1        0.0001834± 0.0004792 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)
 / ndf 2χ  44.29 / 25

p0        0.0±  3936 

p1        0.0001787± 0.0003394 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11)
 / ndf 2χ  43.04 / 25

p0        0.0±  3933 

p1        0.0001795± 0.0001026 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11)

TP delay [ns]
0 20 40 60 80 100

3934

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12)
 / ndf 2χ  30.79 / 25

p0        0.0±  3934 

p1        1.777e-04± 8.368e-06 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12)

TP delay [ns]
0 20 40 60 80 100

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13)
 / ndf 2χ  15.67 / 25

p0        0.0±  3932 

p1        0.0001904± 0.0003126 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13)

TP delay [ns]
0 20 40 60 80 100

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14)
 / ndf 2χ  57.94 / 25

p0        0.0±  3928 

p1        0.0001832± 0.0001274 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15)
 / ndf 2χ  55.06 / 25

p0        0.0±  3936 

p1        0.0001816± 0.0001115 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15)



TP delay [ns]
0 20 40 60 80 100

3898

3899

3900

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0) / ndf 
2χ  35.04 / 25

p0        0.0±  3900 

p1        0.000189± 0.000346 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1)
 / ndf 2χ  32.11 / 25

p0        0.0±  3916 

p1        0.0001844± 0.0001839 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2)
 / ndf 2χ   54.7 / 25

p0        0.0±  3905 

p1        1.710e-04± 6.711e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3)
 / ndf 2χ  30.97 / 25

p0        0.0±  3911 

p1        0.0001778± 0.0002262 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4)
 / ndf 2χ  17.44 / 25

p0        0.0±  3927 

p1        0.0001961± -0.0002096 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5)
 / ndf 2χ  21.74 / 25

p0        0.0±  3925 

p1        0.0001731± -0.0004689 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6)
 / ndf 2χ  35.36 / 25

p0        0.0±  3931 

p1        0.0001749± -0.0003082 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6)

TP delay [ns]
0 20 40 60 80 100

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)
 / ndf 2χ  28.86 / 25

p0        0.0±  3932 

p1        0.0001806± -0.0003279 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)

TP delay [ns]
0 20 40 60 80 100

3914

3915

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8)
 / ndf 2χ  22.71 / 25

p0        0.0±  3916 

p1        1.805e-04± -8.598e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8)

TP delay [ns]
0 20 40 60 80 100

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9)
 / ndf 2χ  16.45 / 25

p0        0.0±  3917 

p1        0.0001786± 0.0003525 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10)
 / ndf 2χ  21.44 / 25

p0        0.0±  3916 

p1        0.0001863± 0.0001454 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11)
 / ndf 2χ  18.74 / 25

p0        0.0±  3920 

p1        0.0001887± -0.0001127 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12)
 / ndf 2χ  31.82 / 25

p0        0.0±  3924 

p1        0.0001881± -0.0003563 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,13) / ndf 
2χ  32.29 / 25

p0        0.0±  3937 

p1        0.000184± -0.000403 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,13)

TP delay [ns]
0 20 40 60 80 100

3937

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14)
 / ndf 2χ  30.11 / 25

p0        0.0±  3937 

p1        0.000177± -0.000705 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15)
 / ndf 2χ  30.14 / 25

p0        0.0±  3925 

p1        0.0001885± -0.0005131 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15)



TP delay [ns]
0 20 40 60 80 100

3924

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)
 / ndf 2χ  34.61 / 25

p0        0.0±  3924 

p1        0.0002035± -0.0003069 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1) / ndf 
2χ  40.47 / 25

p0        0.0±  3932 

p1        1.94e-04± -1.05e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2)
 / ndf 2χ  26.89 / 25

p0        0.0±  3930 

p1        0.0001829± 0.0004446 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3)
 / ndf 2χ   32.6 / 25

p0        0.0±  3926 

p1        0.0001769± 0.0003022 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3)

TP delay [ns]
0 20 40 60 80 100

3946

3947

3948

3949

3950

3951

3952

TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)
 / ndf 2χ  64.52 / 25

p0        0.0±  3952 

p1        0.0002057± 0.0008978 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)

TP delay [ns]
0 20 40 60 80 100

3938

3939

3940

3941

3942

3943

3944

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5)
 / ndf 2χ  43.93 / 25

p0        0.0±  3944 

p1        0.0002016± 0.0005722 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6)
 / ndf 2χ  33.13 / 25

p0        0.0±  3951 

p1        0.0001774± 0.0007579 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7)
 / ndf 2χ  47.33 / 25

p0        0.0±  3950 

p1        0.0001764± 0.0008292 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8)
 / ndf 2χ  39.55 / 25

p0        0.0±  3926 

p1        0.0001912± 0.0002449 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,9)
 / ndf 2χ  36.27 / 25

p0        0.0±  3932 

p1        0.0001764± 0.0003566 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)
 / ndf 2χ   37.9 / 25

p0        0.0±  3933 

p1        0.0001841± 0.0002676 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,11) / ndf 
2χ  26.27 / 25

p0        0.0±  3927 

p1        1.85e-04± 8.89e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11)

TP delay [ns]
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3933

TVC (Mean) vs TP delay (c,b,ch)=(4,11,12)
 / ndf 2χ  26.02 / 25

p0        0.0±  3933 

p1        0.0001936± 0.0008188 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,12)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,13)
 / ndf 2χ  27.13 / 25

p0        0.0±  3926 

p1        0.0001789± 0.0002246 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,13)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,14)
 / ndf 2χ  37.53 / 25

p0        0.0±  3929 

p1        0.0001945± 0.0004389 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,15)
 / ndf 2χ  29.58 / 25

p0        0.0±  3931 

p1        0.0001646± 0.0006889 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,15)



TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,0)
 / ndf 2χ  42.19 / 25

p0        0.0±  3929 

p1        0.0001807± 0.0006376 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,0)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,1)
 / ndf 2χ  63.63 / 25

p0        0.0±  3943 

p1        0.0001760± 0.0006188 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,1)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,2)
 / ndf 2χ  66.83 / 25

p0        0.0±  3937 

p1        0.0001874± 0.0008776 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,2)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,3)
 / ndf 2χ  48.18 / 25

p0        0.0±  3933 

p1        0.0001807± 0.0005743 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,3)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,4)
 / ndf 2χ  31.55 / 25

p0        0.0±  3920 

p1        0.0001984± 0.0004884 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,4)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,5)
 / ndf 2χ  23.44 / 25

p0        0.0±  3920 

p1        0.0002083± 0.0004997 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,5)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,6)
 / ndf 2χ  39.54 / 25

p0        0.0±  3917 

p1        0.0001807± 0.0004098 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,6)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,7)
 / ndf 2χ  25.65 / 25

p0        0.0±  3921 

p1        0.0001845± 0.0007247 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,7)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,8)
 / ndf 2χ  43.54 / 25

p0        0.0±  3911 

p1        0.0001912± 0.0003099 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,9)
 / ndf 2χ  48.57 / 25

p0        0.0±  3910 

p1        0.0001931± 0.0002113 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,10)
 / ndf 2χ  53.28 / 25

p0        0.0±  3913 

p1        0.0001829± 0.0001999 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,10)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,11) / ndf 
2χ  28.72 / 25

p0        0.0±  3911 

p1        0.000191± 0.000453 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,11)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,12)
 / ndf 2χ  26.72 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,13) / ndf 
2χ  42.25 / 25
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p1        0.000213± 0.001224 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,13)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,14) / ndf 
2χ  30.01 / 25
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p1        0.00018± 0.00118 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,14)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,15)
 / ndf 2χ  40.94 / 25

p0        0.0±  3896 

p1        0.0001935± 0.0007862 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,0)
 / ndf 2χ  39.39 / 25
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p1        0.0001902± 0.0006349 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,0)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,1)
 / ndf 2χ  30.93 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,1)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,2)
 / ndf 2χ  29.48 / 25

p0        0.0±  4023 

p1        0.0001749± 0.0006645 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,3)
 / ndf 2χ   30.3 / 25

p0        0.0±  4030 

p1        0.0001815± 0.0002888 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,3)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,4)
 / ndf 2χ  38.55 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,4)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,5) / ndf 
2χ  37.55 / 25
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p1        0.00017± 0.00041 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,6)
 / ndf 2χ  51.03 / 25

p0        0.0±  3960 

p1        0.0001796± 0.0004825 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,6)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,7)
 / ndf 2χ  36.29 / 25

p0        0.0±  3960 

p1        0.0001826± 0.0003563 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,7)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,8)
 / ndf 2χ   49.5 / 25

p0        0.0±  4012 

p1        2.004e-04± 6.621e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,9)
 / ndf 2χ  38.15 / 25
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p1        0.0001728± 0.0002409 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,9)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,10)
 / ndf 2χ  37.83 / 25

p0        0.0±  4019 

p1        0.0001752± 0.0006025 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,10)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,11)
 / ndf 2χ  34.17 / 25
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p1        0.0001962± 0.0001038 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,12)
 / ndf 2χ  43.76 / 25

p0        0.0±  3957 

p1        1.905e-04± 7.412e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,13)

 / ndf 2χ  58.67 / 25
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p1        0.0001712± 0.0001134 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,13)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,14) / ndf 
2χ  33.02 / 25

p0        0.0±  3959 

p1        0.000202± 0.000157 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,14)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,15)
 / ndf 2χ  37.32 / 25

p0        0.0±  3959 

p1        0.0001722± -0.0001148 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,15)



TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,0)
 / ndf 2χ  37.53 / 25

p0        0.0±  3971 

p1        0.0001848± 0.0003746 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,0)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,1)
 / ndf 2χ  25.79 / 25

p0        0.0±  3974 

p1        0.0001825± 0.0005718 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,1)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,2)
 / ndf 2χ  46.51 / 25

p0        0.0±  3976 

p1        0.0001894± 0.0008845 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,2)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,3) / ndf 
2χ  18.66 / 25

p0        0.0±  3971 

p1        0.000191± 0.000587 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,3)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,4)
 / ndf 2χ  16.59 / 25

p0        0.0±  3965 

p1        1.908e-04± -7.133e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,4)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,5)
 / ndf 2χ  30.97 / 25

p0        0.0±  3967 

p1        0.0001732± -0.0002063 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,5)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,6)
 / ndf 2χ  19.47 / 25

p0        0.0±  3964 

p1        0.0001927± 0.0001852 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,6)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,7)
 / ndf 2χ  24.95 / 25

p0        0.0±  3976 

p1        0.0001900± 0.0003096 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,7)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,8)
 / ndf 2χ  20.17 / 25

p0        0.0±  3919 

p1        0.0001961± 0.0002574 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,8)

TP delay [ns]
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3929

TVC (Mean) vs TP delay (c,b,ch)=(4,14,9)
 / ndf 2χ  11.56 / 25

p0        0.0±  3929 

p1        1.666e-04± -3.622e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,9)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,10)
 / ndf 2χ  42.08 / 25

p0        0.0±  3923 

p1        1.839e-04± -6.812e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,10)

TP delay [ns]
0 20 40 60 80 100

3916

3917

3918

3919

3920

3921

3922

TVC (Mean) vs TP delay (c,b,ch)=(4,14,11)
 / ndf 2χ  28.21 / 25

p0        0.0±  3922 

p1        0.0001819± 0.0003423 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,11)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,12)
 / ndf 2χ  41.08 / 25

p0        0.0±  3965 

p1        0.0001834± 0.0002564 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,12)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,13)
 / ndf 2χ  42.03 / 25

p0        0.0±  3965 

p1        1.863e-04± 6.898e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,13)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,14) / ndf 
2χ  46.96 / 25

p0        0.0±  3956 

p1        1.86e-04± 7.14e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,14)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,15)
 / ndf 2χ  40.38 / 25

p0        0.0±  3955 

p1        0.0001875± 0.0003214 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,15)



TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,0)
 / ndf 2χ  17.17 / 25

p0        0.0±  3937 

p1        0.0001980± 0.0004743 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,0)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,1)
 / ndf 2χ  22.72 / 25

p0        0.0±  3928 

p1        0.0001899± 0.0004227 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,1)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,2)
 / ndf 2χ  38.26 / 25

p0        0.0±  3935 

p1        0.0001990± 0.0002682 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,3)
 / ndf 2χ  20.59 / 25

p0        0.0±  3937 

p1        0.0001867± 0.0005599 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,3)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,4)
 / ndf 2χ  20.42 / 25

p0        0.0±  3927 

p1        0.0001819± 0.0007184 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,5)
 / ndf 2χ  18.99 / 25

p0        0.0±  3927 

p1        0.0001862± 0.0001202 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,5)

TP delay [ns]
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3928

TVC (Mean) vs TP delay (c,b,ch)=(4,15,6)
 / ndf 2χ  27.48 / 25

p0        0.0±  3928 

p1        0.0001865± 0.0006844 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,6)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,7)
 / ndf 2χ  36.04 / 25

p0        0.0±  3924 

p1        0.0001782± 0.0006912 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,7)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,8)
 / ndf 2χ  27.57 / 25

p0        0.0±  3926 

p1        0.0001768± 0.0002453 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,8)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,9)
 / ndf 2χ  22.67 / 25

p0        0.0±  3919 

p1        0.0001836± 0.0003478 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,9)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,10)
 / ndf 2χ  31.33 / 25

p0        0.0±  3918 

p1        0.0001816± 0.0002682 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,10)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,11)
 / ndf 2χ  29.14 / 25

p0        0.0±  3927 

p1        0.0001733± 0.0002769 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,11)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,12)
 / ndf 2χ  40.17 / 25

p0        0.0±  3931 

p1        0.0001953± -0.0002018 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,13)
 / ndf 2χ  45.89 / 25
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p1        0.0001852± -0.0001318 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,13)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,14) / ndf 
2χ  36.28 / 25

p0        0.0±  3922 

p1        0.00018± -0.00043 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,15)
 / ndf 2χ   39.6 / 25

p0        0.0±  3926 

p1        0.0001771± -0.0003198 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,0) / ndf 2χ  1.104e+04 / 25
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C = 28.56 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(5,0,0)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,1) / ndf 2χ  1.051e+04 / 25
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p1        0.00± -35.17 

C = 28.43 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(5,0,1)

TP delay [ns]
0 20 40 60 80 100

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(5,0,2) / ndf 2χ  1.078e+04 / 25
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p1        0.00± -35.29 

C = 28.34 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(5,0,2)

TP delay [ns]
0 20 40 60 80 100

500

1000

1500

2000

2500

3000

3500

4000
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